
Number DESCRIPTION Number 

09-1004 
09-2040 
09-2060 

BUITON HEAD SOCKET CAP SCREW 09-2070 
09-3053 
09-3055 
09-3090 

01-0013 09-4077 
01-1115 4 09-4080 
01-1185 2 09-4092 
01-1271 3 09-5046 

01-1490 09-8018 
01-1554 2 09-8146 
01-1561 09-8235 
01 -1565 2 09-8329 
01-2180 09-8330 
01-2230 09-9525 
01-4030 8 09-9555 

01-4037 
10-1025 
09-9615 

01-4041 8 10-2031 

4 
01-4049 

02-2055 
02-2290 2 

12-1026 
12-1143 
12-1145 
12-1145 

03- 1035 2 3/8" Lock Nut 12-1164 
03-1045 4 7 /16" Lock Nut 12-1279 
03-1055 14 l /2" Lock Nut 12-1380 
03-1067 5/8" Lock Nut 12-5470 

5/16" Lock Nut 
1/4-20 INSERT 11/16" LONG 

03-3043 
03-4040 7 12-5475 

03-5104 2 1/2" Hex Nut 12-5611 

04-5202 WASHER, FLAT, 5/16" USS 17-1465 

04-5213 8 3/8" Internal Loe Washer 19-1775 

04-5214 4 W' Internal Loe Washer BSF605 
05-5105 4 .500 ID Bushin IGUS Replacement FL605 

06-2010 CONNECTIN LINK RF2040 HB605 

06-3070 CBR #12 DONUT HB606 

06-5045 NYLON BELT ROLLER HB607 
06-8258 Snap Ring, Internal, 5/8" LK529 
07-1160 4 Roller Bearing 7516 LK638 

07-4005 4 Elson PFl 008 MA638 

07-5072 ANTI JUMP PIN SPACER MA639 

07-8363 2 PULLEY BUSHING number 

07-9896 2 NITRO RD/PF PLACARD SHIELD OPT-AW 

08-5066 SLEEVE OPT-WT-02 

08-5096 2 SEAT RACK BUSHING SF610 

08-5186 2 UP8236 

08-7064 BELT LOCKING PLUG UP8237 
UP8238 
UP8365 

Date: OZ/26/07 

NI ro 
Plus TY. 

2 

2 

2 
4 
2 
2 

2 
8 
2 

2 
2 
2 
2 
2 
2 
2 

2 

2 

2 

DESCRIPTION 

.500 ID X 3" CLOSED END 
1 l /2 X 2 11 GA FRAME PLUG 
1 l /2 X 3 11 GA FRAME PLUG 
2 X 2 11 GA FRAME PLUG 
2 l / 4 HOLE PLUG MP2250 BLACK 
2 X 4 11 GA FRAME PLUG 
HOLE PLUG 1 3/4 OD X l 3/8 ID X .5 LONG 
BEARING 1 l /2 SQ X 3/4 ID 
RUBBER BUMPER OLD RB#l 
BUMPER 
Nitro P us Footpad 
GUIDE ROD BUSHING 
SELECTOR PIN TIP 
PLUNGER PIN 
WIDE PULLEY 3" DIA 
REDIRECTIONAL PULLEY 4" 
GRIP CAP 1.780 ID FOR 1 3/4 BAR 
GRIP RING 1.785 ID FOR 1 3/4" BAR 
TUBE INSERT 1.375 ID PN3047-4-l 
SPRING, TORSION 
SPRING, COMP . .480 X 2.500 X .045 
KEEP HANDS AWAY 
RD/PF MA POSITION 1-3 
SEAT BACK ADJ. DECAL 
SEAT BACK ADJ. DECAL 
WARNING DECAL, MINI WEIGHT 
RED DOT new Logo 
MADE IN USA 

"S3" RDPF FOOTPEDAL 
REAR DELT/PEC FLY BASE 
RD/PF ADJ. FOOTREST 
SEAT ADJUSTMENT RACK 
RD/PF SEAT ADJ. RACK 
PU LL PIN LEVER 
BLR ANTI JUMP PIN 
RD/PF CAM ASSEMBLY 
RD/PF LEFT MOVEMENT ARM 
RD/PF RIGHT MOVEMENT ARM 
desc 
Add On Weight Assembly 
WEIGHTSTACK ASSEMBLY #02 
NITRO VC SEAT BACK 
STANDARD SEAT BOITOM 
STD TALL TOP BACK PAD 
LOWER CONTOURED BACK PAD 
ROLLER PAD REAR DELT/PEC FLY 

@ NAUTILUS. 

19-5966 SSRDPF 
Rear Delt /Pee Fly 

Parts List 

https://www.gympart.com/itemdesc.aspx?ic=ST10416&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11548&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1215&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1058&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11753&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10396&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1617&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1105&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1059&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1136&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1020&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1572&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1514&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1108&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10110&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1360&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1595&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10001&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1558&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST11882&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1421&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1499&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1169&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1125&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1203&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1602&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10638&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB1169&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1856&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1011&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1111&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1121&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1056&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1508&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1509&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1126&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1482&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1542&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10427&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1822&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS2269&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NP1006&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


@ NAUTILUS 

Black 

OPT-AW 
Black 

LK628 
:reflon Grey 

07-8982 
Black(2) 

12-5475 (DECAL) 

09-8018 

17-1465 

Last Rev Date: OS/18/06 

12-5470 (DECAL) 

09-8329 

06-5045.___0 

LK529 _jfr//01-1490 
Black ~3-1055 

\.(8) 

BSF605 

RED: PAINTED ITEMS 
__ Trollies I Machine 

09-3090 ~ 

12-1279 

MA638 

SSRDPF 
Parts Diagram 

REAR DELT / PEC FLY 

https://www.gympart.com/itemdesc.aspx?ic=ST1514&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STS1549&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1203&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1011&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NTS1121&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST1822&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=NP1006&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

